EARAROBREBRT —5 XN—ZXBISH—F

202355898 (X)) 1EIEER6H

12R EasgiSyl

A SR

BRI

[AE%] 17%:1,100,000 § ~ 27&:385,000  37%&:220,000 " ~ 43&:143,000 ™  57&:77,000 M

BRE FRESS /IR HE B5F (F28) FA4L (5% | BBIEML | E3F |[SIEY | AT | #AE | B FIR) / BF / S£ERS
~ ~ 4 8 | SRKE 1:38.8 6-2 37.3| - 1 512 | #RESE (KR)
1 g | NARIWTYTF7Y 5.0 o o | B BSTLYKISTSTATY
RIFPAIWNTTFH— B:IVF—LAX EvIUy RI7—LA
3 S 7 | BERRE 1:39.1 1-1 38.3| — 5 513 | #RESA (KR)
207110 DAY FUVY 56.0 ) ) |YTS9T - RRIAVK (@)
RIZPRIAVIVIR B:FUVIFIWLT o pelre]
. - (ELAES :39. - . - RIESEA (KR)
3l5]5 | F5vona H 1 S ARE 1(3;9)8 10-10 | 37.5 9 (5_1(3 el bl
RN B:RFA D4R~ /=Y Tr—I
7 -5~ t o8 | Mg 1:39.9 8-5 8.3 - 2 | 485 | AMBE (KR)
4 2| TbA==5> 56.0 (/4) (5 |BEEE
R:F4—FAVNON B:FFI/IT—) J=HUT7—L
" LUIZAEES 1:40.1 - 4] - 7 4 IR (KR)
5 7 YILXILINF T 5 54.0 It 10/4) &8 % (Z;) E%@%Eﬁ
R:IJUA=Y B:Fa—H-FV sk =2
o9 | BiLRE 1:40.2 10-11  38.0| — 3 | 458 |EBHE (KR
61111 1FIINA 56.0 (/2) @) | O
RW—FHISYY B:vavFyrr—0O B ELe
~ y ; €Y 4 | XS 1:40.5 4-4 9.2 - 10 | 524 |EBRE (KR
7179 | PYTAT L= 5.0 (' 3/8) (g | EAHE
R:O—IRAUAA B:TFSUY— =% Ex
= == 4 5 | AER 1:40.9 7-6 39.3| — n a1 | BEE OKR)
8 4 TILY 725 56.0 2172 (-p) |HBEE
RiF4—=TAVNTN B:AYT1S HEIT7—L
Sy~ 4 4 | A 1:41.0 2-2 9.9 - 6 474 | HIESH KR
9|81 BA¥—FTVT 54.0 (1 o |EERE
RiEATULRY B:T5UVV0 itn4i5
o BARRA 142, = . - HHESF KR
1005 6| RZRT4—F v — it 4 B 12162)0 10-12 | 39.4 12 (4_43 LB v
R:F4RAITU—rFvy b BIVITX— F—U— - Iv/\2 - T7—LERR
< R ROB— 42, - . - EREHSLE (BERE)
1180 3 | Y2y RI7F) # 7 | BO s 46 |43 8 (5371) e
R h—EVRIURY B:IAYVINYI— JUART—TI
~ —R 4t 7 | WAESEE 1:44.2 2-9 3.1 — 4 502 | fEEES— (KR)
121812/ T¥TA0O—-F 56.0 10) (3) | AR
R:AR—rZ7)V3Y B:F+UaO0-X PS5 BER
@ 1—F—&BIEL
13—7+—
20—7F—
Jal=zr= 10,(11,12),(3,9).8.4,(2,7), (1,5.6)
43—F— 10, (8,11),9,2, (3,4),7,12,5,1,6
o ILRE
B s 8 210M4 AR 8-10 550M4 % 3= 6-7 1,050 3EE 5-8-10 6,930M
B B 8 140/ 5-8 590 Fs E 8-10 1,230H4 3EH 8-10-5 19,830/
10 410 5-10 2,470 Ba 8-10 1,580
5 5604

ABIC OV TRUTEREERRODDZE. THRIIZEL.




